

## JOHANNESBURG STOCK EXCHANGE Currency Derivatives

## **Currency Futures & Options Matched Trades**

Report for 14/03/2013

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Premium Value Trade Type	Buy/ Sell
8:12:58	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	45	45,000	9.3610	(421,245.00) Client	Sell
8:12:58	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	17,848	17,848,000	9.3610	167,075,128.00 Member	Buy
8:38:22	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.2420	(4,621,000.00) Member	Sell
8:38:22	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.2420	4,621,000.00 Member	Buy
8:51:35	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	826	826,000	9.3570	7,728,882.00 Member	Buy
9:06:23	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	21,378	21,378,000	9.3560	(200,012,568.00) Client	Sell
9:06:23	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	21,378	21,378,000	9.3560	200,012,568.00 Member	Buy
9:09:00	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.3500	4,675,000.00 Client	Buy
9:09:00	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.3500	(4,675,000.00) Member	Sell
9:15:38	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.2305	92,305.00 Member	Buy
9:15:38	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.2305	(92,305.00) Client	Sell
9:17:32	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3440	(934,400.00) Client	Sell
9:17:32	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3440	934,400.00 Member	Buy
9:17:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	40	40,000	9.3440	373,760.00 Member	Buy
9:17:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	40	40,000	9.3440	(373,760.00) Client	Sell
9:19:07	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.2290	922,900.00 Member	Buy
9:19:07	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.2290	(922,900.00) Client	Sell
9:22:40	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3425	934,250.00 Member	Buy
9:22:40	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3425	(934,250.00) Client	Sell
9:23:16	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	9.2330	(9,233.00) Client	Sell
9:23:16	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	9.2330	9,233.00 Member	Buy
9:28:10	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	9.2380	461,900.00 Member	Buy
9:28:10	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	9.2380	(461,900.00) Client	Sell
9:28:15	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	9.2400	9,240.00 Member	Buy
9:28:15	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	9.2400	(9,240.00) Client	Sell
9:34:21	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	9.5895	479,475.00 Member	Buy
9:34:21	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	9.5895	(479,475.00) Client	Sell
9:43:04	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3645	936,450.00 Member	Buy
9:43:04	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3645	(936,450.00) Member	Sell

Page 1 of 14 2013/03/14, 06:05:47PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Premium Value Trade Type	Buy/ Sell
9:51:24	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.3550	7,016,250.00 Member	Buy
9:51:24	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.3550	(7,016,250.00) Member	Sell
9:51:25	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.2415	6,931,125.00 Member	Buy
9:51:25	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.2415	(6,931,125.00) Member	Sell
9:53:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	25	25,000	9.3548	233,870.00 Member	Buy
9:53:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	25	25,000	9.3548	(233,870.00) Client	Sell
9:54:07	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	24	24,000	9.3548	224,515.20 Member	Buy
9:54:07	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	24	24,000	9.3548	(224,515.20) Client	Sell
9:55:10	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.3521	93,521.00 Member	Buy
9:55:10	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.3521	(93,521.00) Client	Sell
10:10:40	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	33	33,000	9.3532	(308,655.60) Member	Sell
10:10:40	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	33	33,000	9.3532	308,655.60 Client	Buy
10:24:46	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	9.5849	287,547.00 Member	Buy
10:24:46	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	9.5849	(287,547.00) Client	Sell
10:30:44	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3600	936,000.00 Member	Buy
10:30:47	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	4,480	4,480,000	9.2425	41,406,400.00 Member	Buy
10:30:47	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	4,480	4,480,000	9.3560	(41,914,880.00) Member	Sell
10:31:41	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	9.3647	(9,364.70) Member	Sell
10:31:41	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	9.3647	9,364.70 Client	Buy
10:33:20	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	2	2,000	9.2425	18,485.00 Member	Buy
10:33:20	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	2	2,000	9.3560	(18,712.00) Member	Sell
10:41:03	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	9.3650	(9,365,000.00) Member	Sell
10:41:03	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	501	501,000	9.3650	4,691,865.00 Client	Buy
10:41:45	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	510	510,000	9.3610	(4,774,110.00) Member	Sell
10:44:02	\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	900	900,000	9.4660	8,519,400.00 Client	Buy
10:44:02	\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	900	900,000	9.4660	(8,519,400.00) Member	Sell
10:49:38	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3700	937,000.00 Member	Buy
10:51:37	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	150	150,000	9.3750	1,406,250.00 Member	Buy
10:52:41	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	9.3800	(469,000.00) Client	Sell
10:52:41	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3800	938,000.00 Member	Buy
10:52:41	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	9.3800	469,000.00 Member	Buy
10:59:43	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3900	939,000.00 Member	Buy
11:02:01	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.3830	(7,037,250.00) Member	Sell
11:02:01	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.3830	7,037,250.00 Member	Buy
11:02:36	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3823	938,230.00 Member	Buy
11:02:36	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3823	(938,230.00) Member	Sell
11:03:04	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	431	431,000	9.2415	(3,983,086.50) Client	Sell
11:03:04	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	5,721	5,721,000	9.3559	(53,525,103.90) Member	Sell
11:03:04	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	5,721	5,721,000	9.2415	52,870,621.50 Member	Buy
11:18:35	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	9.2795	9,279.50 Member	Buy
11:18:35	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	9.2800	2,320,000.00 Member	Buy
11:18:35	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	9.2800	185,600.00 Member	Buy
11:18:35	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	9.2800	(2,320,000.00) Client	Sell

Page 2 of 14 2013/03/14, 06:05:47PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Premium Value Trade Type	Buy/ Sell
11:18:35	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	9.2800	(185,600.00) Client	Sell
11:18:35	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	9.2795	(9,279.50) Client	Sell
11:22:40	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	25	25,000	9.2827	232,067.50 Member	Buy
11:22:40	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	25	25,000	9.2827	(232,067.50) Client	Sell
11:28:51	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	9	9,000	9.2884	(83,595.60) Member	Sell
11:28:51	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	9	9,000	9.2884	83,595.60 Client	Buy
11:30:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	5	5,000	9.3752	46,876.00 Member	Buy
11:30:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	5	5,000	9.3752	(46,876.00) Client	Sell
11:31:00	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1,700	1,700,000	9.2415	(15,710,550.00) Client	Sell
11:31:00	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1,680	1,680,000	9.2415	(15,525,720.00) Client	Sell
11:31:00	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1,107	1,107,000	9.2415	(10,230,340.50) Client	Sell
11:31:00	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	803	803,000	9.2415	(7,420,924.50) Client	Sell
11:32:27	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.2605	6,945,375.00 Member	Buy
11:32:27	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.2605	(6,945,375.00) Member	Sell
11:32:57	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	91	91,000	9.3755	(853,170.50) Member	Sell
11:32:57	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	91	91,000	9.3755	853,170.50 Client	Buy
11:33:51	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	2	2,000	9.3750	18,750.00 Member	Buy
11:33:51	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	2	2,000	9.3750	(18,750.00) Client	Sell
11:34:46	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3710	937,100.00 Member	Buy
11:34:46	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3710	(937,100.00) Client	Sell
11:36:32	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	431	431,000	9.3609	(4,034,547.90) Member	Sell
11:36:32	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	431	431,000	9.3609	4,034,547.90 Client	Buy
11:36:32	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	1,700	1,700,000	9.3609	(15,913,530.00) Member	Sell
11:36:32	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	1,700	1,700,000	9.3609	15,913,530.00 Client	Buy
11:36:32	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	1,680	1,680,000	9.3609	(15,726,312.00) Member	Sell
11:36:32	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	1,680	1,680,000	9.3609	15,726,312.00 Client	Buy
11:36:32	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	1,107	1,107,000	9.3609	(10,362,516.30) Member	Sell
11:36:32	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	1,107	1,107,000	9.3609	10,362,516.30 Client	Buy
11:36:32	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	803	803,000	9.3609	(7,516,802.70) Member	Sell
11:36:32	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	803	803,000	9.3609	7,516,802.70 Client	Buy
11:41:25	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	499	499,000	9.3650	4,673,135.00 Client	Buy
11:42:29	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	254	254,000	9.3700	(2,379,980.00) Member	Sell
11:42:29	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	254	254,000	9.3700	2,379,980.00 Client	Buy
11:42:29	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	256	256,000	9.3700	(2,398,720.00) Member	Sell
11:42:29	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	256	256,000	9.3700	2,398,720.00 Client	Buy
11:43:46	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.3720	4,686,000.00 Client	Buy
11:43:46	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.3720	(4,686,000.00) Member	Sell
11:45:15	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	30,000	30,000,000	9.2824	278,472,000.00 Member	Buy
11:55:50	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	216	216,000	9.3650	(2,022,840.00) Member	Sell
11:55:50	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	216	216,000	9.3650	2,022,840.00 Member	Buy
11:58:15	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	9.2465	(462,325.00) Client	Sell
11:58:15	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	9.2465	462,325.00 Member	Buy
11:58:26	\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	23	23,000	9.4746	217,915.80 Member	Buy

Page 3 of 14 2013/03/14, 06:05:47PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Premium Value Trade Type	Buy/ Sell
11:58:26	\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	23	23,000	9.4746	(217,915.80) Client	Sell
12:04:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	4	4,000	9.3664	37,465.60 Member	Buy
12:04:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	4	4,000	9.3664	(37,465.60) Client	Sell
12:04:47	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	336	336,000	9.2425	(3,105,480.00) Client	Sell
12:05:05	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	336	336,000	9.3599	3,144,926.40 Client	Buy
12:05:05	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	4,482	4,482,000	9.3599	(41,951,071.80) Member	Sell
12:06:57	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	200	200,000	9.3661	1,873,220.00 Member	Buy
12:07:12	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	40	40,000	9.3663	(374,652.00) Client	Sell
12:07:12	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	40	40,000	9.3663	374,652.00 Member	Buy
12:07:50	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.2530	925,300.00 Client	Buy
12:07:50	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3637	(936,370.00) Client	Sell
12:07:50	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3637	936,370.00 Member	Buy
12:07:50	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.2530	(925,300.00) Member	Sell
12:07:57	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	9.3667	9,366,700.00 Member	Buy
12:08:43	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	40	40,000	9.3661	(374,644.00) Client	Sell
12:08:58	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	9.3661	(187,322.00) Client	Sell
12:09:15	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	9.3661	(187,322.00) Client	Sell
12:09:32	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	9.3661	(187,322.00) Client	Sell
12:09:42	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	9.3661	(187,322.00) Client	Sell
12:10:06	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	9.3661	(187,322.00) Client	Sell
12:10:18	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.3661	(93,661.00) Client	Sell
12:10:36	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	9.3661	(280,983.00) Client	Sell
12:11:34	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.3654	93,654.00 Member	Buy
12:11:34	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	9.3658	(280,974.00) Client	Sell
12:14:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	5,624	5,624,000	9.3610	(52,646,264.00) Client	Sell
12:14:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	4,060	4,060,000	9.3610	(38,005,660.00) Client	Sell
12:14:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	4,038	4,038,000	9.3610	(37,799,718.00) Client	Sell
12:14:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	1,541	1,541,000	9.3610	(14,425,301.00) Client	Sell
12:14:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	941	941,000	9.3610	(8,808,701.00) Client	Sell
12:14:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	530	530,000	9.3610	(4,961,330.00) Client	Sell
12:14:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	364	364,000	9.3610	(3,407,404.00) Client	Sell
12:14:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	130	130,000	9.3610	(1,216,930.00) Client	Sell
12:14:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	99	99,000	9.3610	(926,739.00) Client	Sell
12:14:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	89	89,000	9.3610	(833,129.00) Client	Sell
12:14:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	86	86,000	9.3610	(805,046.00) Client	Sell
12:14:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	70	70,000	9.3610	(655,270.00) Client	Sell
12:14:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	61	61,000	9.3610	(571,021.00) Client	Sell
12:14:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	60	60,000	9.3610	(561,660.00) Client	Sell
12:14:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	57	57,000	9.3610	(533,577.00) Client	Sell
12:14:14	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	53	53,000	9.3610	(496,133.00) Client	Sell
12:19:36	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.2585	6,943,875.00 Member	Buy
12:19:36	\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.4885	7,116,375.00 Member	Buy
	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	720	720,000	9.3725	6,748,200.00 Member	Buy

Page 4 of 14 2013/03/14, 06:05:47PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Premium Value Trade Type	Buy/ Sell
12:19:36	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	720	720,000	9.3725	(6,748,200.00) Member	Sell
12:19:36	\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.4885	(7,116,375.00) Member	Sell
12:19:36	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	9.3725	(281,175.00) Member	Sell
12:19:36	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	9.3725	281,175.00 Member	Buy
12:19:36	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.2585	(6,943,875.00) Member	Sell
12:19:49	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	9.3665	(28,099,500.00) Member	Sell
12:19:49	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	9.3665	28,099,500.00 Client	Buy
12:23:52	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	5	5,000	9.2542	(46,271.00) Client	Sell
12:23:52	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	5	5,000	9.2542	46,271.00 Member	Buy
12:24:39	\$ / R 16/09/2013	Foreign Exchange Future	Р	9.00	1	1,000	200	200,000	167.0000	(33,400,000.00) Member	Sell
12:24:39	\$ / R 16/09/2013	Foreign Exchange Future	С	10.32	1	1,000	200	200,000	167.0000	33,400,000.00 Member	Buy
12:24:39	\$ / R 16/09/2013	Foreign Exchange Future	С	10.32	1	1,000	200	200,000	167.0000	(33,400,000.00) Client	Sell
12:27:57	\$ / R 14/06/2013	Foreign Exchange Future	С	10.00	1	1,000	5,000	5,000,000	94.9000	(474,500,000.00) Member	Sell
12:30:55	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3730	937,300.00 Member	Buy
12:30:55	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3730	(937,300.00) Client	Sell
12:32:08	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	4,000	4,000,000	9.2425	(36,970,000.00) Client	Sell
12:32:08	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	146	146,000	9.2425	(1,349,405.00) Client	Sell
12:33:46	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	4,000	4,000,000	9.3599	37,439,600.00 Client	Buy
12:33:46	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	146	146,000	9.3599	1,366,545.40 Client	Buy
12:33:58	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	193	193,000	9.2324	1,781,853.20 Member	Buy
12:33:58	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1,930	1,930,000	9.2774	(17,905,382.00) Client	Sell
12:34:18	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	610	610,000	9.2774	(5,659,214.00) Client	Sell
12:34:18	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	61	61,000	9.2324	563,176.40 Member	Buy
12:34:23	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	5	5,000	9.3678	46,839.00 Member	Buy
12:34:23	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	5	5,000	9.3678	(46,839.00) Client	Sell
12:34:37	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	143	143,000	9.2324	1,320,233.20 Member	Buy
12:34:37	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1,430	1,430,000	9.2774	(13,266,682.00) Client	Sell
12:34:59	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	6,340	6,340,000	9.2774	(58,818,716.00) Client	Sell
12:34:59	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	634	634,000	9.2324	5,853,341.60 Member	Buy
12:35:20	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1,969	1,969,000	9.2324	18,178,595.60 Member	Buy
12:35:20	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	19,690	19,690,000	9.2774	(182,672,006.00) Client	Sell
12:41:19	\$ / R 16/09/2013	Foreign Exchange Future	Р	9.00	1	1,000	200	200,000	172.0000	(34,400,000.00) Member	Sell
12:41:19	\$ / R 16/09/2013	Foreign Exchange Future	Р	9.00	1	1,000	200	200,000	172.0000	34,400,000.00 Client	Buy
12:43:28	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	82	82,000	9.3634	(767,798.80) Client	Sell
12:43:28	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	82	82,000	9.3634	767,798.80 Member	Buy
12:51:20	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.2400	92,400.00 Client	Buy
12:51:20	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.2400	(92,400.00) Member	Sell
12:53:08	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	9.2438	(277,314.00) Member	Sell
12:53:08	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	15	15,000	9.2438	138,657.00 Client	Buy
12:53:16	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	9.3578	(280,734.00) Member	Sell
12:53:16	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	15	15,000	9.3578	140,367.00 Client	Buy
12:53:47	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	15	15,000	9.2438	138,657.00 Client	Buy
12:54:11	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	15	15,000	9.3578	140,367.00 Client	Buy

Page 5 of 14 2013/03/14, 06:05:47PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Premium Value Trade Type	Buy/ Sell
12:57:37	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	60	60,000	9.2415	(554,490.00) Member	Sell
12:57:37	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	60	60,000	9.2415	554,490.00 Client	Buy
12:58:14	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	278	278,000	9.2415	2,569,137.00 Member	Buy
12:58:14	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	278	278,000	9.2415	(2,569,137.00) Client	Sell
13:00:02	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.2344	(92,344.00) Member	Sell
13:00:02	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.2344	92,344.00 Client	Buy
13:00:55	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	6	6,000	9.2300	(55,380.00) Member	Sell
13:00:55	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	6	6,000	9.2300	55,380.00 Client	Buy
13:04:33	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	9.2300	(461,500.00) Client	Sell
13:04:33	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.2300	92,300.00 Client	Buy
13:04:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	9.3435	467,175.00 Client	Buy
13:04:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.3435	(93,435.00) Client	Sell
13:05:22	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	9.2300	(2,307,500.00) Client	Sell
13:05:52	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	9.3435	2,335,875.00 Client	Buy
13:10:08	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	9.2330	184,660.00 Client	Buy
13:10:08	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	9.2330	(184,660.00) Member	Sell
13:11:36	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	290	290,000	9.2300	2,676,700.00 Client	Buy
13:11:58	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	290	290,000	9.3435	(2,709,615.00) Client	Sell
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	9.3447	186,894.00 Member	Buy
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	9.3447	(186,894.00) Client	Sell
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	42	42,000	9.3447	392,477.40 Member	Buy
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	42	42,000	9.3447	(392,477.40) Client	Sell
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	97	97,000	9.3447	906,435.90 Member	Buy
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	97	97,000	9.3447	(906,435.90) Client	Sell
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	44	44,000	9.3447	411,166.80 Member	Buy
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	44	44,000	9.3447	(411,166.80) Client	Sell
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	257	257,000	9.3447	2,401,587.90 Member	Buy
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	257	257,000	9.3447	(2,401,587.90) Client	Sell
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	19	19,000	9.3447	177,549.30 Member	Buy
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	19	19,000	9.3447	(177,549.30) Client	Sell
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	106	106,000	9.3447	990,538.20 Member	Buy
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	106	106,000	9.3447	(990,538.20) Client	Sell
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	67	67,000	9.3447	626,094.90 Member	Buy
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	67	67,000	9.3447	(626,094.90) Client	Sell
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	34	34,000	9.3447	317,719.80 Member	Buy
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	34	34,000	9.3447	(317,719.80) Client	Sell
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	70	70,000	9.3447	654,129.00 Member	Buy
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	70	70,000	9.3447	(654,129.00) Client	Sell
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	17	17,000	9.3447	158,859.90 Member	Buy
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	17	17,000	9.3447	(158,859.90) Client	Sell
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	53	53,000	9.3447	495,269.10 Member	Buy
13:13:33	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	53	53,000	9.3447	(495,269.10) Client	Sell
13:21:12	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	5,710	5,710,000	9.2330	52,720,430.00 Client	Buy

Page 6 of 14 2013/03/14, 06:05:47PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Premium Value Trade Type	Buy/ Sell
13:21:12	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	5,710	5,710,000	9.3460	(53,365,660.00) Client	Sell
13:21:12	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	5,710	5,710,000	9.2330	(52,720,430.00) Member	Sell
13:21:12	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	5,710	5,710,000	9.3460	53,365,660.00 Member	Buy
13:25:32	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	55	55,000	9.3555	(514,552.50) Member	Sell
13:25:32	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	55	55,000	9.3555	514,552.50 Client	Buy
13:41:50	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	9.3435	467,175.00 Member	Buy
13:42:02	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	450	450,000	9.3435	4,204,575.00 Member	Buy
13:42:02	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.3435	(4,671,750.00) Member	Sell
13:45:29	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.3447	93,447.00 Member	Buy
13:45:29	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.3447	(93,447.00) Client	Sell
13:48:39	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	2	2,000	9.3440	18,688.00 Member	Buy
13:48:39	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	2	2,000	9.3440	(18,688.00) Client	Sell
13:48:39	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	3	3,000	9.3440	28,032.00 Client	Buy
13:48:39	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	3	3,000	9.3440	(28,032.00) Client	Sell
13:49:09	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	40	40,000	9.3440	373,760.00 Member	Buy
13:49:09	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	40	40,000	9.3440	(373,760.00) Client	Sell
13:52:16	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.5636	7,172,700.00 Member	Buy
13:52:16	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	9.5636	2,390,900.00 Member	Buy
13:52:16	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	9.2265	(2,306,625.00) Member	Sell
13:52:16	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.2265	(6,919,875.00) Member	Sell
13:53:10	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.5636	4,781,800.00 Member	Buy
13:53:10	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.2268	(4,613,400.00) Member	Sell
13:54:05	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	420	420,000	9.5557	4,013,394.00 Member	Buy
13:54:05	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	420	420,000	9.2192	(3,872,064.00) Member	Sell
13:55:47	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	780	780,000	9.2196	(7,191,288.00) Member	Sell
13:55:47	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	780	780,000	9.3280	7,275,840.00 Member	Buy
13:55:47	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	780	780,000	9.5480	7,447,440.00 Client	Buy
13:55:47	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	400	400,000	9.5578	(3,823,120.00) Client	Sell
13:55:47	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	400	400,000	9.2234	3,689,360.00 Client	Buy
13:57:44	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1,800	1,800,000	9.2234	16,602,120.00 Client	Buy
13:57:44	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.2234	4,611,700.00 Client	Buy
13:58:20	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	1,800	1,800,000	9.5578	(17,204,040.00) Client	Sell
13:58:20	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.5578	(4,778,900.00) Client	Sell
14:14:42	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.3500	93,500.00 Member	Buy
14:14:42	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.3500	(93,500.00) Client	Sell
14:22:47	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.2365	(6,927,375.00) Member	Sell
14:22:47	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.2365	6,927,375.00 Member	Buy
14:33:08	\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.4750	94,750.00 Member	Buy
	\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.4750	(94,750.00) Client	Sell
	\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.4605	7,095,375.00 Member	Buy
	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.2305	6,922,875.00 Member	Buy
	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	618	618,000	9.3445	5,774,901.00 Member	Buy
	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	618	618,000	9.3445	(5,774,901.00) Member	Sell

Page 7 of 14 2013/03/14, 06:05:47PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Premium Value Trade Type	Buy/ Sell
14:54:46	\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.4605	(7,095,375.00) Member	Sell
14:54:46	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.2305	(6,922,875.00) Member	Sell
14:59:55	\$ / R 17/03/2014	Foreign Exchange Future	Р	9.25	1	1,000	200	200,000	359.0000	(71,800,000.00) Member	Sell
14:59:55	\$ / R 17/03/2014	Foreign Exchange Future	С	10.50	1	1,000	200	200,000	359.0000	71,800,000.00 Member	Buy
14:59:55	\$ / R 17/03/2014	Foreign Exchange Future	С	10.50	1	1,000	200	200,000	359.0000	(71,800,000.00) Client	Sell
15:05:26	\$ / R 17/03/2014	Foreign Exchange Future	Р	9.25	1	1,000	200	200,000	364.0000	(72,800,000.00) Member	Sell
15:05:26	\$ / R 17/03/2014	Foreign Exchange Future	Р	9.25	1	1,000	200	200,000	364.0000	72,800,000.00 Client	Buy
15:09:59	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	9.2380	9,238,000.00 Client	Buy
15:09:59	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	9.2380	(9,238,000.00) Member	Sell
15:24:26	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3574	(935,740.00) Client	Sell
15:24:26	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.2495	924,950.00 Client	Buy
15:24:26	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	480	480,000	9.3574	4,491,552.00 Member	Buy
15:24:26	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	480	480,000	9.2495	(4,439,760.00) Member	Sell
15:25:37	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	9.2495	277,485.00 Client	Buy
15:25:37	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.2495	924,950.00 Client	Buy
15:25:37	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	9.2495	2,312,375.00 Client	Buy
15:26:15	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	9.3574	(2,339,350.00) Client	Sell
15:26:15	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3574	(935,740.00) Client	Sell
15:26:15	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	9.3574	(280,722.00) Client	Sell
15:26:32	\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	2	2,000	9.4745	(18,949.00) Member	Sell
15:26:32	\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	2	2,000	9.4745	18,949.00 Client	Buy
15:38:17	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.2335	4,616,750.00 Member	Buy
15:38:17	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.2335	(4,616,750.00) Member	Sell
15:40:04	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	870	870,000	9.2251	8,025,837.00 Member	Buy
15:40:04	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	870	870,000	9.2251	(8,025,837.00) Client	Sell
15:53:19	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3320	933,200.00 Member	Buy
15:53:19	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3320	(933,200.00) Client	Sell
15:56:12	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	9	9,000	9.2140	(82,926.00) Member	Sell
15:56:12	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	9	9,000	9.2140	82,926.00 Client	Buy
16:00:00	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	25	25,000	9.3206	(233,015.00) Member	Sell
16:00:00	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	25	25,000	9.3206	233,015.00 Client	Buy
16:01:40	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	60	60,000	9.3221	(559,326.00) Member	Sell
16:01:40	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	60	60,000	9.3221	559,326.00 Client	Buy
16:02:13	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	40	40,000	9.1947	(367,788.00) Client	Sell
16:02:13	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	40	40,000	9.1947	367,788.00 Member	Buy
16:12:02	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	40	40,000	9.2177	368,708.00 Member	Buy
16:12:02	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	40	40,000	9.2177	(368,708.00) Client	Sell
16:19:37	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	9.3256	27,976,800.00 Member	Buy
16:19:37	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	9.3256	(27,976,800.00) Client	Sell
16:31:34	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.1925	(919,250.00) Member	Sell
16:31:34	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.1925	919,250.00 Client	Buy
16:31:38	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.1900	(919,000.00) Member	Sell
	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.1900	919,000.00 Client	Buy

Page 8 of 14 2013/03/14, 06:05:47PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Premium Value Trade Type	Buy/ Sell
16:33:51	\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	9.4157	282,471.00 Member	Buy
16:33:51	\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	9.4157	(282,471.00) Client	Sell
16:38:07	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.1875	(918,750.00) Member	Sell
16:38:07	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.1875	918,750.00 Client	Buy
16:38:08	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.1850	(918,500.00) Member	Sell
16:38:08	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.1850	918,500.00 Client	Buy
16:38:37	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	5	5,000	9.1822	45,911.00 Member	Buy
16:38:37	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	5	5,000	9.1822	(45,911.00) Client	Sell
16:44:47	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	9.1930	(183,860.00) Member	Sell
16:44:47	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	9.1930	183,860.00 Client	Buy
16:45:20	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.1930	(91,930.00) Member	Sell
16:45:20	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.1930	91,930.00 Client	Buy
16:45:51	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	4	4,000	9.5282	38,112.80 Member	Buy
16:45:51	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	4	4,000	9.5282	(38,112.80) Client	Sell
16:47:00	\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	7	7,000	9.4152	65,906.40 Member	Buy
16:47:00	\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	7	7,000	9.4152	(65,906.40) Client	Sell
16:54:21	\$ / R 14/06/2013	Foreign Exchange Future	Р	9.50	1	1,000	200	200,000	350.5000	(70,100,000.00) Client	Sell
16:54:21	\$ / R 14/06/2013	Foreign Exchange Future	Р	9.50	1	1,000	200	200,000	350.5000	70,100,000.00 Member	Buy
16:56:43	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	1,700	1,700,000	9.7582	(16,588,940.00) Client	Sell
16:56:43	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	1,700	1,700,000	9.5282	(16,197,940.00) Member	Sell
16:56:43	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	1,700	1,700,000	9.7582	16,588,940.00 Member	Buy
16:57:04	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3100	(931,000.00) Member	Sell
16:57:04	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.3100	931,000.00 Client	Buy
17:02:37	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.3070	(6,980,250.00) Client	Sell
17:02:37	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	750	750,000	9.3070	6,980,250.00 Member	Buy
17:08:46	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	300	300,000	9.3050	2,791,500.00 Member	Buy
17:14:27	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.3150	(4,657,500.00) Member	Sell
17:17:01	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	9.3850	(469,250.00) Member	Sell
17:17:01	\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.3220	4,661,000.00 Client	Buy
Total Futi		3 3 1 3			173	,,,,,	145,835	145,834,500		1 360 351 829.85	• •
Total Opt	ions				7		3,700	3,700,000		572 350 000.00	
Total for	\$ / R Foreign Exchange Fι	ıture			180		149,535	149,534,500		1,932,701,829.85	
11:19:30	\$ / R MAXI 14/06/2013	Foreign Exchange Future		0.00	1	100,000	2	200,000	9.4000	1,880,000.00 Member	Buy
11:19:30	\$ / R MAXI 14/06/2013	Foreign Exchange Future		0.00	1	100,000	2	200,000	9.4000	(1,880,000.00) Client	Sell
11:33:50	\$ / R MAXI 18/03/2013	Foreign Exchange Future		0.00	1	100,000	5	500,000	9.2605	(4,630,250.00) Member	Sell
11:33:50	\$ / R MAXI 18/03/2013	Foreign Exchange Future		0.00	1	100,000	5	500,000	9.2605	4,630,250.00 Member	Buy
12:19:36	\$ / R MAXI 18/03/2013	Foreign Exchange Future		0.00	1	100,000	5	500,000	9.2585	4,629,250.00 Member	Buy
12:19:36	\$ / R MAXI 14/06/2013	Foreign Exchange Future		0.00	1	100,000	5	500,000	9.3730	4,686,500.00 Member	Buy
12:19:36	\$ / R MAXI 14/06/2013	Foreign Exchange Future		0.00	1	100,000	5	500,000	9.3730	(4,686,500.00) Member	Sell
12:19:36	\$ / R MAXI 18/03/2013	Foreign Exchange Future		0.00	1	100,000	5	500,000	9.3730	(4,686,500.00) Member	Sell
		= =			1	100,000			9.2365		
14:22:47	\$ / R MAXI 18/03/2013	Foreign Exchange Future		0.00	ı	100,000	5	500,000	<b>3.2303</b>	(4,618,250.00) Member	Sell

Page 9 of 14 2013/03/14, 06:05:47PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Premium Value Trade Type	Buy/ Sell
14:22:47	\$ / R MAXI 18/03/2013	Foreign Exchange Future		0.00	1	100,000	5	500,000	9.2365	4,618,250.00 Member	Buy
14:54:46	\$ / R MAXI 18/03/2013	Foreign Exchange Future		0.00	1	100,000	5	500,000	9.2305	4,615,250.00 Member	Buy
14:54:46	\$ / R MAXI 18/03/2013	Foreign Exchange Future		0.00	1	100,000	5	500,000	9.2305	(4,615,250.00) Member	Sell
16:07:42	\$ / R MAXI 18/03/2013	Foreign Exchange Future		0.00	1	100,000	5	500,000	9.2160	(4,608,000.00) Member	Sell
16:07:42	\$ / R MAXI 18/03/2013	Foreign Exchange Future		0.00	1	100,000	5	500,000	9.2160	4,608,000.00 Member	Buy
Total Fut	ures				7		32	3,200,000		29 667 500.00	
Total Opt	tions										
Total for	\$ / R MAXI Foreign Excha	nge Future			7		32	3,200,000		29,667,500.00	
8:17:50	£ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.9842	(13,984,200.00) Member	Sell
8:17:50	£ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.9842	13,984,200.00 Client	Buy
10:19:26	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.8200	138,200.00 Member	Buy
10:19:26	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.8200	(138,200.00) Client	Sell
10:30:47	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	77	77,000	13.8036	1,062,877.20 Member	Buy
10:30:47	£ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	77	77,000	13.9665	(1,075,420.50) Member	Sell
10:36:13	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.8310	13,831.00 Member	Buy
10:36:13	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.8310	(13,831.00) Client	Sell
11:02:01	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.8425	(6,921,250.00) Member	Sell
11:02:01	£/R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.8425	6,921,250.00 Member	Buy
11:05:18	£/R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	25	25,000	14.0016	350,040.00 Member	Buy
11:05:18	£ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	25	25,000	14.0016	(350,040.00) Client	Sell
11:06:38	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.8440	13,844.00 Member	Buy
11:06:38	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.8440	(13,844.00) Client	Sell
11:19:19	£/R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.8500	13,850.00 Member	Buy
11:19:19	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.8500	138,500.00 Member	Buy
11:19:19	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.8500	(138,500.00) Client	Sell
11:19:19	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.8500	(13,850.00) Client	Sell
11:55:50	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.8210	(6,910,500.00) Member	Sell
11:55:50	£/R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.8210	6,910,500.00 Member	Buy
12:05:54	£/R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	54	54,000	13.8036	(745,394.40) Client	Sell
12:06:09	£/R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	54	54,000	13.9710	754,434.00 Client	Buy
12:06:09	£ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	77	77,000	13.9710	(1,075,767.00) Member	Sell
12:12:25	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.8238	(276,476.00) Client	Sell
12:12:25	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.8238	276,476.00 Member	Buy
12:29:54	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.8450	692,250.00 Member	Buy
12:29:54	£ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.8450	(692,250.00) Member	Sell
12:52:21	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	23	23,000	13.8036	(317,482.80) Client	Sell
12:53:15	£/R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	23	23,000	13.9710	321,333.00 Client	Buy
14:16:45	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.8002	13,800.20 Member	Buy
14:16:45	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.8002	(13,800.20) Client	Sell
14:25:49	£/R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.9770	6,988,500.00 Member	Buy
14:25:49	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.8140	6,907,000.00 Member	Buy

Page 10 of 14 2013/03/14, 06:05:47PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Premium Value Trade Type	Buy/ Sell
14:25:49	£/R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.8140	(6,907,000.00) Member	Sell
14:25:49	£ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.9770	(6,988,500.00) Member	Sell
14:54:47	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.7930	6,896,500.00 Member	Buy
14:54:47	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.7930	3,448,250.00 Member	Buy
14:54:47	£ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.9560	6,978,000.00 Member	Buy
14:54:47	£ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.9560	(6,978,000.00) Member	Sell
14:54:47	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.7930	(3,448,250.00) Member	Sell
14:54:47	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.7930	(6,896,500.00) Member	Sell
15:55:52	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.8225	6,911,250.00 Member	Buy
15:55:52	£ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.9860	6,993,000.00 Member	Buy
15:55:52	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.8225	(6,911,250.00) Member	Sell
15:55:52	£ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.9860	(6,993,000.00) Member	Sell
16:44:02	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.8140	(276,280.00) Member	Sell
16:44:02	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.8140	276,280.00 Client	Buy
16:46:17	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.8044	276,088.00 Member	Buy
16:46:17	£ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.8044	(276,088.00) Client	Sell
16:48:03	£ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.9718	698,590.00 Member	Buy
16:48:03	£ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.9718	(698,590.00) Client	Sell
Total Futu	ures				26		5,652	5,651,500		78 516 553.65	
Total Opti	ions										
Total for £	E / R Foreign Exchange F	uture			26		5,652	5,651,500		78,516,553.65	
9:25:03	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	200	200,000	11.9662	2,393,240.00 Member	Buy
9:25:03	€ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	200	200,000	12.2918	(2,458,360.00) Member	Sell
9:25:21	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	200	200,000	11.9652	2,393,040.00 Member	Buy
9:25:21	€ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	200	200,000	12.2920	(2,458,400.00) Member	Sell
9:25:21	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	400	400,000	11.9657	(4,786,280.00) Client	Sell
9:25:21	€ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	400	400,000	12.2919	4,916,760.00 Client	Buy
10:30:47	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	155	155,000	11.9734	1,855,877.00 Member	Buy
10:30:47	€ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	155	155,000	12.1285	(1,879,917.50) Member	Sell
11:02:01	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.0095	(6,004,750.00) Member	Sell
11:02:01	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.0095	6,004,750.00 Member	Buy
11:55:50	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.9850	(5,992,500.00) Member	Sell
11:55:50	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.9850	5,992,500.00 Member	Buy
11:58:45	€ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	57	57,000	12.2890	700,473.00 Member	Buy
11.30.43				0.00	1	1,000	57	57,000	12.2890	(700,473.00) Client	Sell
	€ / R 16/09/2013	Foreign Exchange Future				4 000	108	108,000	11.9734	(1,293,127.20) Client	Sell
11:58:45	€ / R 16/09/2013 € / R 18/03/2013	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	100	100,000	11.9754	(1,293,127.20) Glient	
11:58:45 12:05:27				0.00 0.00	1 1	1,000 1,000	108	108,000	12.1330	1,310,364.00 Client	Buy
11:58:45 12:05:27 12:05:45	€ / R 18/03/2013	Foreign Exchange Future									Buy Sell
11:58:45 12:05:27 12:05:45 12:05:45	€ / R 18/03/2013 € / R 14/06/2013	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	108	108,000	12.1330	1,310,364.00 Client	
11:58:45 12:05:27	€ / R 18/03/2013 € / R 14/06/2013 € / R 14/06/2013	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future		0.00 0.00	1 1	1,000 1,000	108 155	108,000 155,000	12.1330 12.1330	1,310,364.00 Client (1,880,615.00) Member	Sell

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Premium Value Trade Type	Buy/ Sell
13:22:26	€ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	12.1375	(1,213,750.00) Client	Sell
13:22:26	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	225	225,000	11.9850	(2,696,625.00) Member	Sell
13:22:26	€ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	225	225,000	12.1375	2,730,937.50 Member	Buy
13:22:58	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	125	125,000	11.9850	1,498,125.00 Client	Buy
13:23:27	€ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	125	125,000	12.1375	(1,517,187.50) Client	Sell
14:39:26	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.9405	5,970,250.00 Member	Buy
14:39:26	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.9405	(5,970,250.00) Member	Sell
14:39:27	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	11.9405	2,985,125.00 Member	Buy
14:39:27	€ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.0950	6,047,500.00 Member	Buy
14:39:27	€ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.0950	(6,047,500.00) Member	Sell
14:39:27	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	11.9405	(2,985,125.00) Member	Sell
14:54:47	€ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.2570	6,128,500.00 Member	Buy
14:54:47	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.9445	5,972,250.00 Member	Buy
14:54:47	€ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.0995	6,049,750.00 Member	Buy
14:54:47	€ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	12.0995	3,024,875.00 Member	Buy
14:54:47	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	11.9445	2,986,125.00 Member	Buy
14:54:47	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	11.9445	(2,986,125.00) Member	Sell
14:54:47	€ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.2570	(6,128,500.00) Member	Sell
14:54:47	€ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	12.0995	(3,024,875.00) Member	Sell
14:54:47	€ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.0995	(6,049,750.00) Member	Sell
14:54:47	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.9445	(5,972,250.00) Member	Sell
16:28:09	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.9265	5,963,250.00 Member	Buy
16:28:09	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.9265	(5,963,250.00) Member	Sell
16:28:10	€ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	12.0805	3,020,125.00 Member	Buy
16:28:10	€ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	12.0805	(3,020,125.00) Member	Sell
16:32:34	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	17	17,000	11.9177	(202,600.90) Member	Sell
16:32:34	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	17	17,000	11.9177	202,600.90 Client	Buy
16:36:15	€ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	12.0700	362,100.00 Member	Buy
16:36:15	€ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	12.0700	(362,100.00) Client	Sell
16:44:15	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	38	38,000	11.8900	451,820.00 Member	Buy
	€ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	38	38,000	11.8900	(451,820.00) Client	Sell
Total Futi	ures				26		6,780	6,779,500		81 669 047.15	
Total Opt	ions										
Total for	€ / R Foreign Exchange F	uture			26		6,780	6,779,500		81,669,047.15	
9:15:37	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.6260	(962,600.00) Member	Sell
9:17:02	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	3	3,000	9.6290	(28,887.00) Member	Sell
9:17:12	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	2	2,000	9.6265	(19,253.00) Member	Sell
9:40:50	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	9.5890	(479,450.00) Member	Sell
9:40:50	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	9.5890	479,450.00 Client	Buy
9:46:01	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.6356	(963,560.00) Member	Sell
9:46:01	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.6356	963,560.00 Client	Buy
9:46:01	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.6356	(963,560	.00) Member

2013/03/14, 06:05:47PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Premium Value Trade Type	Buy/ Sell
10:03:03	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	3	3,000	9.6220	(28,866.00) Member	Sell
10:13:15	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	3	3,000	9.6150	(28,845.00) Member	Sell
10:48:57	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	3	3,000	9.5750	28,725.00 Member	Buy
10:48:57	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	3	3,000	9.5750	(28,725.00) Client	Sell
11:03:29	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	3	3,000	9.5875	28,762.50 Member	Buy
11:03:29	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	3	3,000	9.5875	(28,762.50) Client	Sell
11:04:29	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	3	3,000	9.5885	28,765.50 Member	Buy
11:04:29	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	3	3,000	9.5885	(28,765.50) Client	Sell
11:06:44	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	2	2,000	9.5890	19,178.00 Member	Buy
11:06:44	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	2	2,000	9.5890	(19,178.00) Client	Sell
11:31:24	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.6375	(963,750.00) Member	Sell
11:32:27	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	16	16,000	9.6300	(154,080.00) Member	Sell
11:32:27	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	16	16,000	9.6300	154,080.00 Client	Buy
11:33:19	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.6471	(964,710.00) Member	Sell
11:33:19	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.6471	964,710.00 Client	Buy
11:33:50	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.6315	4,815,750.00 Member	Buy
11:33:50	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.6315	(4,815,750.00) Member	Sell
11:52:12	AU\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	60	60,000	9.7210	583,260.00 Member	Buy
11:52:12	AU\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	60	60,000	9.7210	(583,260.00) Client	Sell
11:55:50	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.5720	(4,786,000.00) Member	Sell
11:55:50	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.5720	4,786,000.00 Member	Buy
12:30:10	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.6375	96,375.00 Member	Buy
12:30:10	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	9.6375	(96,375.00) Client	Sell
12:59:53	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	3	3,000	9.6050	(28,815.00) Member	Sell
12:59:53	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	14	14,000	9.6191	134,667.40 Client	Buy
13:01:00	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	5	5,000	9.5972	47,986.00 Member	Buy
13:01:00	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	5	5,000	9.5972	(47,986.00) Client	Sell
13:31:32	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.6040	(960,400.00) Member	Sell
13:33:00	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.6136	(961,360.00) Member	Sell
13:33:00	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.6136	961,360.00 Client	Buy
13:41:05	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	3	3,000	9.6010	28,803.00 Member	Buy
13:41:05	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	3	3,000	9.6010	(28,803.00) Client	Sell
13:46:26	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	2	2,000	9.6050	19,210.00 Member	Buy
13:46:26	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	2	2,000	9.6050	(19,210.00) Client	Sell
14:02:37	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	9.5925	9,592.50 Member	Buy
14:02:37	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	9.5925	(9,592.50) Client	Sell
14:14:47	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	9.6125	9,612.50 Member	Buy
14:14:47	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	9.6125	(9,612.50) Client	Sell
14:54:47	AU\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.6690	4,834,500.00 Member	Buy
14:54:47	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.6175	4,808,750.00 Member	Buy
14:54:47	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	9.5675	2,391,875.00 Member	Buy
14:54:47	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.5675	4,783,750.00 Member	Buy
14:54:47	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	9.6175	2,404,375.00 Member	Buy
. 1.0 7.77		r oroigir Exonange r didie		3.00	•	1,000	200	200,000	0.0170	2,707,070.00 Member	Luy

Page 13 of 14 2013/03/14, 06:05:47PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Premium Value Trade Type	Buy/ Sell
14:54:47	AU\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	9.6690	2,417,250.00 Member	Buy
14:54:47	AU\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	9.6690	(2,417,250.00) Member	Sell
14:54:47	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	9.6175	(2,404,375.00) Member	Sell
14:54:47	AU\$ / R 16/09/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.6690	(4,834,500.00) Member	Sell
14:54:47	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.5675	(4,783,750.00) Member	Sell
14:54:47	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	250	250,000	9.5675	(2,391,875.00) Member	Sell
14:54:47	AU\$ / R 14/06/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.6175	(4,808,750.00) Member	Sell
15:52:21	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.5610	(4,780,500.00) Member	Sell
15:52:21	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	9.5610	4,780,500.00 Member	Buy
16:41:35	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	2	2,000	9.5418	(19,083.60) Member	Sell
16:41:35	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	2	2,000	9.5418	19,083.60 Client	Buy
16:57:06	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	65	65,000	9.5440	620,360.00 Member	Buy
16:57:06	AU\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	65	65,000	9.5440	(620,360.00) Client	Sell
Total Futu	ıres				32		4,440	4,440,000		42 663 665.30	
Total Opt	ions										
Total for AU\$ / R Foreign Exchange Future					32		4,440	4,440,000		42,663,665.30	
8:40:29	DAUS 22/10/2013	Any day expiry	Р	9.47	1	1,000	3,000	3,000,000	418.6000	1,255,800,000.00 Client	Buy
8:46:21	DAUS 22/10/2013	Any day expiry	С	10.07	1	1,000	6,000	6,000,000	231.4000	(1,388,400,000.00) Client	Sell
14:18:45	DAUS 28/03/2013	Any day expiry	Р	9.24	1	1,000	8,400	8,400,000	98.0000	823,200,000.00 Client	Buy
14:18:45	DAUS 28/03/2013	Any day expiry	Р	9.24	1	1,000	10,000	10,000,000	98.0000	(980,000,000.00) Member	Sell
15:05:15	DAUS 28/03/2013	Any day expiry	Р	9.24	1	1,000	8,400	8,400,000	96.5000	(810,600,000.00) Member	Sell
15:05:15	DAUS 28/03/2013	Any day expiry	Р	9.24	1	1,000	8,400	8,400,000	96.5000	810,600,000.00 Client	Buy
15:05:15	DAUS 28/03/2013	Any day expiry	Р	9.24	1	1,000	1,600	1,600,000	96.5000	(154,400,000.00) Member	Sell
15:05:15	DAUS 28/03/2013	Any day expiry	Р	9.24	1	1,000	1,600	1,600,000	96.5000	154,400,000.00 Client	Buy
16:04:37	DAUS 28/03/2013	Any day expiry	Р	9.24	1	1,000	1,600	1,600,000	98.0000	156,800,000.00 Client	Buy
16:52:43	DAUS 28/03/2013	Any day expiry	Р	9.24	1	1,000	8,400	8,400,000	109.0000	(915,600,000.00) Member	Sell
16:52:43	DAUS 28/03/2013	Any day expiry	Р	9.24	1	1,000	8,400	8,400,000	109.0000	915,600,000.00 Client	Buy
16:52:43	DAUS 28/03/2013	Any day expiry	Р	9.24	1	1,000	1,600	1,600,000	109.0000	(174,400,000.00) Member	Sell
16:52:43	DAUS 28/03/2013	Any day expiry	Р	9.24	1	1,000	1,600	1,600,000	109.0000	174,400,000.00 Client	Buy
Total Futures					0		0	0		0.00	
Total Options					7		34,500	34,500,000		4 357 100 000.00	
Total for DAUS Any day expiry					7		34,500	34,500,000		4,357,100,000.00	
Total Futures					263		162,738	165,905,500		1 592 868 595.95	
Total Options				13			38,200	38,200,000	4 929 450 000.00		
Grand Total for all Instruments					276		200,938	204,105,500		6,522,318,595.95	